
 

Dobinsons Spring and Suspension 

www.dobinsons.com 

58 Hollingsworth Street 

Kawana QUEENSLAND AUSTRALIA 4701 

FITTING INSTRUCTIONS 

PART NUMBER – SE59-636K 

 

Toyota Hilux  

 

NOTE – Installation is always recommended by a competent technician. Height not to be adjusted on vehicle.  

1. Remove the OEM front and under diff bash 

plate, bash plate supports and remove the 

OEM Sway Bar D-Bracket Bolts and bracket 

 

2. Install the new bracket base plate using the 

M10 x 1.25 x 30mm cap head bolts supplied 

(no washers on these bolts)– note the 

orientation – the wider section of the base 

plate is to the rear of the vehicle so the 

swaybar is moved forward. For now leave 

this a little loose so you are able to move it 

around and align the D bracket to the base 

plate later. 

 
3. Apply a small amount of Wd40/soapy water 

or equivalent to the sway bar rubber and 

base bracket to make it easier to align. 

 

4. Slide the new D-Bracket over the swaybar D 

rubber wit the arrow pointing forward and 

align it the base plate so that each of the M8 

x 1.25 bolts align. Use a jack under the centre 

of the swaybar to gently raise the swaybar 

into place.  

 
 

5.  Carefully remove the D-bracket installed in 

step 4 and tighten the M10 bolts in the base 

plate installed in step 2. 

 

Wider section 

Lubricate to help install. 

Install bolts loosely to align 

Tighten M10 base plate bolts 



6. Re-Install the D bracket with M8 x 1.25 bolts 

with spring washer and flat washer to Base 

plate and tighten.  

 

 
 

7. NOTE: If installing a diff drop kit as well, this 

will typically be supplied with slightly longer 

bash plate spacers to allow clearance of the 

lower diff position. If this is the case use 

those spacers and bolts supplied instead 

and skip the remaining steps.  

 

Install the 8mm thick spacers between bash 

plate supports and chassis using the M10 x 

1.25 x 30mm cap head bolts supplied with 

flat and spring washers to space down the 

bash plate supports. 

 

 
 

8. Install the 8mm spacers below the front of 

the under diff bash plate and use the M8 

bolts supplied with washers and spring 

washers. 

 

 
 

9. Reinstall the bash plates using the OEM 

hardware.  

 

 


